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Chapter 8
% — PER 100 ; PARTS PER 100 PARTS —  ——~

100
27%, 27 PER 100 27 PARTS PER 100 PARTS —* TZT)ZO'
Shade 3% Shade 40% Shade 57%

Shade 112%

Show me three different ways to shade 25%

Show me three different ways to shade 50%
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Fraction Decimal

% — PER 100 S PARTS PER 100 PARTS —> 100 — =100

27% 27 PER 100 27 PARTS PER 100 PARTS —* % — 21100 = 0.27

33% >33 pER 100 '3}PARTS PER 100 PARTS —»3% —+33+100=0.33

- —
219 * 2 PER 100 > — PARTS PER 100 PARTS —.7— — Z =100 =0,02%

3 3 K3 300 3

113% —’U}PER 100 —’HEPARTSPER 100 PARTS —» l—)—} —>//3 +100 = /\/5

100
1.3% {'3PER 100 —l.3 PARTS PER 100 PARTS —» ,ﬁ%/—b /.3 +100 =(7,Ui}
9]

13
loeQ
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08,~%0%

5 I move the decimal
Divide to the right two units
L 20%
Last place value = move the decimal
Denominator(zeros=decimal places) to the left two units
B B | -
290" 5 O, =30%
p % =29 - !
ercent means per 100 20% = [0 = E
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Changing a fraction to a Decimal. Round to the nearest thousandth.

17? 7+,7:O-1’“1 2
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Changing a fraction to a Percent.

' o
Ls 012 Ha% 2 - YT 242.9%

\_ 72
cenvevt conitt

v dec,
R e ]
Changing a percent to a decimal.
0 17 ¢
S5 _875% 2y = 2T

17 g
35% _35_—-—; Z 8.75% 2%% = 7 70
100 =5 (20 875 2z,

Changing a decimal to a percent

w 3% w0375

Changing a decimal to a fraction

031 2 10.375
{foo
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approximate the following by shading in the rectangle:
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10% of

Decimal Percent [ Mixed nymber/fraction
[+ Z
23 3;3 7y ,T,f,
0.4 4 0%,
0.765 7 5%, 2
0-5%17% 33% ‘?E,chj_b o
g.225 22.5% 2= Tow - G0
515 Gl.5%, 757%5—:,—'1"53
0, 4375 t3,75% il
0.20005 40.005% \[Ogede ~ 2900V
111119901 | (1)1) 9901 %, ="
o, 2| a. | el
I
35.1 35/0 % 35{ 77 66%
=5 |D —
. 033 | 333.'0 ]3 Z )’/Z.zu
0.8512 Ly, - to | Z1 0
° 5 ] 54. = ;{ /g Hov ig_
O' 6 Exactrra:uonalg_;c‘e:\lo”: z3i 0/6 i <
Sog | S06% R
18 [0 | 9% = | 2

w

%4
0> - ). L5= 5

Find the following by multiplying: U2 )
25% ofd2is__ 10«

2542
33%of35is_ f}.5
3% of 100 i @)

00 is g_’d - 2 Jgrzo
20% discount on $400 is a_ ﬁ g O discount “o

35% increase on a salary of $40,000 is aﬁ / L//, o G increase on a salary

.25% sales tax on a purchase of $42.95 is Z 2 . 5 Lf in tax

092G . YZ 4¢ ‘# 1050

3 % commission on a sale of $35,000 is a
C.6

commission

2% of the 30 people in this class love math. people in this class love

math.

4.5% simple interest APR on $3500 loan is a fee of lf / 5 /. S 0 per year.
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Find the following by multiplying: 2
&ysofdzis 10- “4
2542

é@;/n;of? is 1.5
2555 .
3% of 100 is 3 0 _ 90%

/d
20% discount on $400 is a ﬁ g O discount Ho

35% increase on a salary of $40,000 is a ﬂ / ‘7(/, O0¢ increase on a salary

w.8-25% sales tax on a purchase of $42.95 is $ 3 . 5 Lf in tax
09625 . 42,44
3 % commission on a sale of $35,000 is a ﬂ / o S 0 commission
2% of the 30 people in this class love math. O . G people in this class love

math.

4.5% simple interest APR on $3500 loan is a fee of g / 5 7 g O per year.

Find the missing percentage.

Find the missing percentage.

You pay 80% of what an item sells for. If the item sells for $495.25, then you pay

What percent discount is the above

What amount is the discount above.
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Answer the following mentally (no calculator): . 2
1) Find the given percentage of 50; a) 10% b) 20% c) 60% d) 5% e)1%
) 10 30 2.¢ 0.5
2) Find the given percentage of 40, a) 10% b) 20% c) 60% d) 5% e)1%
3) Find the given percentage of 25: a) 10% b) 20% ¢) 60% d) 5% e)l%

ag.26

2.5 5 | G I.ﬁS

"~ (Nocaleulator)
i)You are looking at shirt that costs $40 and you have a 20% off coupon. How much will you pay before
tax? oL
10% S8y Lo 507 >F 2 A
&
2000 of3g -

32

ii) What if you find a 25% of coupon. How much will you pay before tax? (hint:25% = 20%+5%)
e & L
20%, > 4 % 416 {0
42

—( 0
5% ~ !

iil) You find a Vase that is originally priced $6Qand is clearance 50%. How much will you pay before tax if

you use your 25% off coupon? /00/4 9/6 /0% S 3
507034320 2 o> 86
S <, 54/ 56

$272.:50
iiii) If your bill comes out to $44.05 including tax. Approximately what tip should you leave if the
customary tip is 15%?
744 ¢ G.60
o I8
57 78 &

77.50
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Percent equations with of; is (method 1)

LofSisz 25% of 8 s 2
% e 8 = 2 025 « 8§ = 2
*of, with a number next to it, means multiply
*is means equals
What number is 20% of 45.
X =020 « 45
X =9
So, 9 is 20% of 45
a) what is 15% of 30 b) What percent of 34 is 22 ¢) 10% of what number is 22
><:D_|5.BO X +39:-21 i+« X =27
= 4Y.g %_jx-ﬁ_z.}# ENI2 o)
. 2 _
» X =7 Z 0
<= 0.647
____________________________________________________________ e A
1) What number is 82% of 300 2) 39.6 is 44% of what number?
3) .5 is what percent of 40,0007 4) What percent of 3,200 is 1,4007

(43,7570

0.0012576
5) 66%% of what number is 287 ‘ E )Q — Z g
27, Yz ) o BF 06
2 4 . U ] Ne = 1477
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